SCHNITT 1-1

11.00 11.00
5.50 5.50 5.50 5.50
K First = 1018
861.38 m.i.m. hvd
+0.45 +B78 OK Geb hihe =
650.98 m.i.m.
£ {
@ o +8.12
z
o
-'n w
B :
Ok Geb.hihe =
B656.41 m.i.m
5 +428 <,
7 5
o +3.83 OK Geb.hthe =
= ) 655.03 m.im.
iy
+3.38 | G =4
. +287 -
g |
= ] i
o X )
o
“
o Ok 0G | | 4245
+1.48 ) £
&
= | g g 2
\\\ N (3] ©
+1.04 | . |
) ™~ +0.05
& | ™~
O Terrain Heu = g o g
_'---.._______ 85038 m.0.m. n | | bt B
= - i) 037 —
- B DKfﬁ‘_ — EG Wohmung 4 | _ . —
649.84 m.im. — — = o
. 2 e
X " B -
~ |
: ™~ ™~ OK EG
200 | "‘x\ | EG Wohnung 5 = 277
. £48.43 m.im —
. S - —
| 3 —
OK UN- : )
341 —
Gorone Keller | |
548.24 m.i.m.
“ | a3
. o
.
.
.y | OK UG
ey -5.04

rzellengrenze

Pa




11.00 11.00
5.50 5.50 5.50 5.50
Ok First = +10.18
661.36 m.i.m. Lvd
+0.45
-
P~ ’/ 75 .
o = L +8.12
- ‘/
L
R -4
e % :
& o
=
. o L .
OK Geb_hdhe = e
65641 m.im >
OK DG e
B +4.28 e
= G
=
Fay
389 OK DG .
+2.87 =
o s
g o o)
- -
a3
@ OKOG +245
+1.46 i
= t)
ﬁ ™ rr‘-,:-:
o oKOG
+0.05
o
= = —
OHK Temain Neu = - =+ -
— | e5039mim
1 OKEG i 037
198 G Wiohnung 4
7 548.64 m_Gm. o
e — o g
od
-200 - - EG Wohnung 5 = ?:F TE.'J
[ E4843.m i m.
i
QK UN- i
Garage =41
=33 X
e ]
i
——— T — (3]
Tm——
—_— Treppenhaus = ?SFE:tG
~Hhﬁ_““ﬁﬁﬁ_h‘1_ _ 645.28 m._iim. -
—_— S
—_EEE—————————————————————

SCHNITT 2 -2

renze

Parzelle




